/* bits.c                                                                 */

#include <stdio.h>

int bit_print(int);

int invert_bits(int);

int main() {

int u = 12375;

   printf("stare u = %i\n", u); 

   bit_print(u);

   printf("\n");

   u = invert_bits(u);

   printf(" nove u = %i\n", u);

   bit_print(u);

   printf("\n");

   return 0;

}

int bit_print(int u) {

    int maska = 1 << 31;

    int i;

    for (i = 0; i < 32; i++) {

           putchar(((u & maska) == 0) ? '0' : '1');

           u <<= 1;

    }

}

int invert_bits(int u) {

    int maska = 1 << 31;

    int i, v = 0, w;


char c;

    for (i = 0; i < 32; i++) {

           c = ((u & maska) == 0) ? '0' : '1';

           w = c - '0';

           w <<= i;



   v = v | w;

           u <<= 1;

    }


return v;

}

